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Pythagorean Theorem - Basic

Answer: x = 12

Answer: x = 20

Answer: x = 12

Answer: x = 8

Answer: x = 6
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7. a =      ; b = 35; c =  37

9. a = 12 ; b = 16; c =     

8. a = 7; b =            ; c = 25

10. a =      ; b = 24; c = 26

https://www.mometrix.com/academy/pythagorean-theorem/
https://www.mometrix.com/
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Pythagorean Theorem - Advanced

16√2

7. a = 13; b =      ; c = 13√2

9. a = 6; b = 8; c =     

8. a = 7; b =         ; c = 14

10. a =   ; b = 8√3 ; c = 16

x = √288
x = 12√2
x ≈ 16.97 

x = √192
x = 8√3
x ≈ 13.86 

Answer: x = 16

Answer: 

Answer: x = √675
x = 15√3
x ≈ 25.98 

Answer: 

x = √288
x = 12√2
x ≈ 16.97 

Answer: 

x = √48
x = 10√10
x ≈ 31.62   

Answer: 

13
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7   3 √
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